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A & 0l & AF 2 E A A
a=: AEZAF 2AM 0 ZAITHA D
H: JNAZENLFI (2 ELXNGMNLE/NLLEA)
SRl NS HLUN ALY EE EERED
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
S Al TH 44 Dt 189,395,180 164,804,300 24,590,880
= 455,000
s 144,268,000
= 44,672,180
NAREMNLFE(FELXNGML /XNLAL Al 62,296,760 67,998,440 25,701,680
s 46,000,000
< 16,296,760
NG LX AL F 39,499,760 50,044,440 A 10,544,680
s 25,409,000
= 14,090,760
IR/ RN 20,095,000 27,230,000 27,135,000
s 20,095,000
403 XIS E X201 H 20,095,000 27,230,000 27,135,000
s 20,095,000
01 AXSHMA2E = 20,095,000 27,230,000 27,135,000
OXGHLXAANSG (ZSAIZ) 20,095,000
s 20,095,000
N+t X& 4,814,000 8,983,000 A 4,169,000
s 4,814,000
403 UHXISHHSA=0l& 4,814,000 8,983,000 A 4,169,000
s 4,814,000
01 X ESHHA=E L 4,814,000 8,983,000 A 4,169,000
OXNE=QASXNIAML(ZEANZ) 4,814,000
s 4,814,000
ENHE X2 A 500,000 60,000 440,000
as 500,000
403 MtXSHHS =0l & 500,000 60,000 440,000
s 500,000
01 XM A2E X 500,000 60,000 440,000
OFSHEEXNRXNEML(ZSAZ) 500,000
s 500,000
HBEXGIIBAI XA (HEAY ) 13,966, 100 13,625,000 341,100
403 UtXISHE X201 H 13,966,100 13,625,000 341,100
01 X SHHAN2E= 13,966, 100 13,625,000 341,100
OHBXGIIBAIE XA 13,966,100
NEIHL AL IR X &4 st 105,100 100,000 5,100
303 Z& = 5,100 0 5,100
01 Z& = 5,100 0 5,100
OXNGZENLUNRIASFIN 2L R2IAAL 5,100
308 XX EHHSOIA 100,000 100,000 0
01 IXNHHBNEES 100,000 100,000 0
20223 &S 0t20l0F01 & 3 100,000
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KGOS AL 2 3 bl 19,560 19,560 0
201 £B-2d| 15,240 15,240 0
01 At 22l 15,240 15,240 0
Ogpt=2tl 7,240
OXNSHLEMIANBRXNESIES 7,240
O2dsg 8,000
OXNHHLEFAVS FHLLUOHS 6,000
OZZMSINERAEA=SLHHI S 2,000
203 R =&l 4,320 4,320 0
03 Al F=XH R =ZH| 4,320 4,320 0
OXEHLA Y FE 4,320
Nt ME A =X 22,797,000 17,954,000 ,843,000
ras 20,591,000
< 2,206,000
FAXSAME(ZA 5,592,000 3,539,000 ,053,000
s 4,968,000
< 624,000
403 MtXISHHE A0l & 5,592,000 3,539,000 ,053,000
s 4,968,000
= 624,000
01 X SHMA=2EE 5,592,000 3,539,000 ,053,000
OSAIMEOSASE (S 5,592,000
s 4,968,000
< 624,000
FHAXNGMNE(S0HE) 17,205,000 14,415,000 , 790,000
s 15,623,000
< 1,582,000
403 MHXISHHE X201 H 17,205,000 14,415,000 ,790,000
s 15,623,000
< 1,582,000
01 X SHHX2E= 17,205,000 14,415,000 ,790,000
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as 15,623,000
< 1,582,000
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S 16,364,000
ANZHSH2Z 5t 114,632,000 75,252,000 39,380,000
s 98,268,000
< 16,364,000
SAIHE - THEALS 405,000 375,000 30,000
201 Let249] 205,000 175,000 30,000
01 At 22l 205,000 175,000 30,000
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OXIMHELARES LS 6,000
O2ds¢ 68,000
OsTASINSY+Y 48,000
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A= HEZ A= M EXEB Y
HE: FOHOAFANNBY IS (TELNANL/NALEA)
Sl EEHAXNNHIY A (B9 ®R)
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
303 A2 6,990 6,990 0
01 ZAaZ 6,990 6,990 0
OEXNHELALRFRNRIIIZAl & 5,000
OEXNHERSSUHEFENS 390
OXNELAESHPZ UMY E L2 TFAlA 1,600
308 X SHAMSOIA 40,000 0 40,000
M 3IN2SHUHSZEAHAE ALY 40,000 0 40,000
OXNEIEE R E 22 40,000
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= 197,500
308 AHXI S HMSO0I & 197,500 156,502 40,998
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N = 0l & At & Ml A

AHTAR SN A
ULV (ZELX AN /LX)
e G EH =& (cho &)
= - — SHE|
RRA B BN NRAY - BES 0l &k o4 e HlnE2
o 145,703,373 169,703, 164 £23,999,791
= 18,550,000
A 300,000
= 126,853,373
SIEULN AL (ZELX AN /SR) 123,440,313 115,534,750 7,905,563
= 8,550,000
< 114,890,313
P NOHE P FA 114,872,313 107,692,750 7,179,563
SHETHOH O AN (X&) (M & ALY) 74,174,000 81,355,000 A7,181,000
401 A2 HIL 2 TH Y| 57,684,000 81,355,000 ~23,671,000
01 Al 51,695,000 74,967,000 ~23,272,000
) GHE TH o Ol 2 AL (=01 & 01) 51,695,000
02 22l 5,853,000 6,160,000 307,000
I 5H& T of 0l 2 AL & 5,853,000
03 Al & = THHl 136,000 228,000 ~92,000
)5 & T o Ofl 2 A & 136,000
403 XX SHH S X201 A 16,490,000 0 16,490,000
02 BIIZSOICHERH= & I S AL b 16,490,000 0 16,490,000
)51 & T o Ofl 2 AL & 16,490,000
OHE THOH Ol 2 AFE (K12 (R B AFYS) 33,989,000 23,561,000 10,428,000
403 XX SHH S X =0l & 33,989,000 23,561,000 10,428,000
01 REXISHAI X2 2 X 33,989,000 23,561,000 10,428,000
)5 & T o Ofl 2 Al & 33,989,000
StEH =R 6,709,313 2,776,750 3,932,563
201 Yt | 63,430 63,430 0
01 AtR 22l | 63,430 63,430 0
=] 33,430
OBt E ALY RBBRNERAUVADTEYS 33,430
Degag 30,000
OSHIYLLNAZLAJASL S 30,000
203 &P F & b 4,320 4,320 0
03 AR =X = A Y| 4,320 4,320 0
OstEHeEg ez 4,320
401 A2 HIL 2 TH Y| 6,641,563 2,709,000 3,932,563
01 Al&Hl 6,625,000 2,700,000 3,925,000
OsHEII2HE 28 LUHB R L 6,625,000
03 Al& 2 THH| 16,563 9,000 7,563
OSHEIIZHSE Y LUF =S 16,563
=Eap! 8,550,000 7,842,000 708,000
= 8,550,000




o @t ECH-E)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2

S3tgAHA 8,550,000 7,842,000 708,000
= 8,550,000

403 XX SHHS K201 & 8,550,000 7,842,000 708,000
= 8,550,000

01 XIS RS2 X 8,550,000 7,842,000 708,000
O2stdAL 8,550,000
= 8,550,000

Xl ot 2] 18,000 0 18,000

XNotE=E&2eANAESH 18,000 0 18,000

308 XHXIEHSOlIA 18,000 0 18,000

112 2SUHUSHEAEAE A Y| 18,000 0 18,000
[OXolx=Set2de|Al A8 2A 18,000

SIEANLZ2UTE(ZEYL XN AL /STH) 120,000 120,000 0

SIEAMNYESEE 120,000 120,000 0

SIEAMNYESEE 235 120,000 120,000 0

201 LBt 70,000 70,000 0

01 AP 22| H| 70,000 70,000 0
OgetL=2H| 70,000
OstEAIEEE 40,000
Orx=ZB2HEE 30,000

308 XHXIGHH SO0l & 50,000 50,000 0

01 IXHHIMNEXS 50,000 50,000 0
OZAHEHZE 50,000

SIESANELZR(ZELXEINE /LX) 18,723,500 50,161,884 N 31,438,384
= 10,000,000
A 300,000
o 8,423,500

ot AHI=& 18,723,500 50,161,884 N 31,438,384
= 10,000,000
A 300,000
o=} 8,423,500

ol AHIAIE =&l 2,933,500 2,933,500 0
A 300,000
= 2,633,500

201 et 33,500 33,500 0

01 AP 2t 2] H| 33,500 33,500 0]
Ogst=2H| 33,500
OGIEEHH AL AEANBRALADTEIRULS 33,500

401 AlEHIZ 2 0HY| 500,000 500,000 0

01 Al& B 500,000 500,000 0




HE T A= 2M : GHE
SIERXNESFI(ZELXNNGNL/+TE)
St EHIF=A (cho &)

2. 2A B E(AN) - MEAY - BYS 0l &t o8 il HlnE2

OXgot2g3l 500,000

403 MHXISHHE X201 E 2,400,000 2,400,000 0
S 300,000
< 2,100,000

01 XM A=2EE 2,400,000 2,400,000 0
DIl M Hd A 300,000
JLBHSHRE I E 2= AL 1,500,000
OXNYotd =2 AL EHI ALY 300,000
FEAESHHAMY 300,000
EN 300,000

2ot S X E=AtS 10,000,000 34,639,000 A 24,639,000
= 10,000,000

403 XSS A=0l& 10,000,000 34,639,000 A 24,639,000
= 10,000,000

01 X SHMA=2E X 10,000,000 34,639,000 A 24,639,000
O3t SN EFAY 10,000,000
= 10,000,000

H1BSEHZ0IEMMNEFH (ZELSE)(HSHI) 5,000,000 10,000, 000 25,000,000

401 Al B2 2B 5,000,000 10,000, 000 25,000,000

01 Al gl 5,000,000 10,000,000 ~5,000,000
IS0/ X 5HE T o = 2 b 5,000,000

StESX2el(Fo=3) 790,000 1,042,500 A 252,500

403 UM E X201 H 790,000 1,042,500 A 252,500

01 X SHHX2E= 790,000 1,042,500 A 252,500
OZSAIHEotHE Al HotA I S A 25,000
OZFAN2fUHSHSZ2lUSIZH S M 110,000
O3FANEESEHSHEH S A 30,000
O AZ2HI3el P0FEEHI S A 50,000
OotsSALAHZ A 0l & EHI S A 15,000
OSAUEHIAX IR EZH S A 150,000
OZEANESHSAECI AT HI S M 100,000
OaFAAAE0IECI A A Z B S A 45,000
D22 A28 EHI S A 100,000
Dagdz2sH ot 2= EH S A 15,000
OgeZH S0l 2 I A Sl S A 30,000
Oz ZdHE S| 82d I S A 75,000
O2dz2dsHiZie(de)EsT MY S A 25,000

Ogdz2dsdiFdd(FES)E8MSEH

Hl 20,000

#ZSAHYI(5HE D) (JIEH/IIE) 66,560 91,530 ~24,970

JlE3l 66,560 91,530 A24,970
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AT ALCAIR SN NCAEAED
H: S2EQCTHACAFTE(ZELX WL /XL Al
R TEAMEAAE CEE-ED
- _ RE]
SoSN - SH(EH) - NEAY - B Ofl At o gﬁ‘&i HR=2
308 XHXIEHSO|A 150,000 100,000 50,000
01 AIXSHMENMNEX= 150,000 100,000 50,000
OMNEFHX S AN 60,000
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OHERXNE= 70,000
HMIR2SEHZL=S2(HEANML) 12,136 0 12,136
401 Al HI K 201 I 12,136 0 12,136
01 A& HI 12,136 0 12,136
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o428 9,361
SRSy 6,600
SREFAZE 2 6,756
oesy 73,2803 x1H 602 4,397
OFg+g 73,2802 * 1+ 122 880
Odxt=¢ 73,2803 x1H »22 147
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HEZ A=
A2g(der23dE /Y
SU2 3 A2

AR RA BB OBH) - MBEAY - BAS O Ak o8 ﬁlf& HD=2
01 & bl 8,800 8,800 0
>SHHUYEHYA+-SHERLYS 1,000
OJIHed2gs8sdE 1,800
O=S2INFASEFRY 6,000
401 Al HI L 2 THHI 110,000 300, 000 190,000
01 A& HI 110,000 300, 000 A 190,000
OS2AINWR}DH (SRFAS2I) 80,000
OS2 AMPUHAEGATZ2 A X S A 30,000
HHSAAY (SRALASA)(IIEH/IIE) 3,956,572 3,918,043 38,529
ol 2 A | 3,700,358 3,690,523 9,835
ol 2AH| 3,700,358 3,690,523 9,835
101 2121 4| 3,570,218 3,595,783 N 25,565
01 2= 3,128,717 3,093,983 34,734
OoJis=s 2,107,385
OH=H 452,000
-4 98,000,000 *1H 98,000
- 52 88,500,000& *4H 354,000
Oz A 1,655,385
-3 (2713 2) 4,235,100& x13H x12& 660,676
-72(17182) 3,327,700 20X « 128 798,648
-82(hs8) 2,042,300 x8H x12& 196,061
O+ 718,101
Oa=<¢ 219,821
-H3 242 1,655,384,400 *1/12x50%*23] 137,949
RSt = PN = 46,920
254 0] & 130,000& *10H x12& 15,600
20 0] Af~254 0] Gt
110,000& «10¥ x12& 13,200
- 154 0] A ~20 0 8t
80,000&*10¥ x12& 9,600
- 109 0l A ~15E 0] Bt
60,000& *11H x12& 7,920
5 0] A~10E 0| 8 50,000& x1H x12& 600
-URsREAY 34,952
422
88,500,000 /12%78%*4 . 1%*4 3 « 128 11,321
- 523U 4,235, 100& *4 . 1%*5H «12& 10,419
6= 3,327,700 x4 1%*x5H «12& 8,187
72U 2,042,300 x4 . 1%*x5H «12& 5,025
OJH B 115,440
-EY 84,240
- B X 40,0003 46 x12& 22,080




A= HEZ A= 2N SREHAEAE A
M. HESHBH(ERAEAMGA)(IIEH/IIE
Sel: o2y (B9 ®R)
AR RA BB OBH) - MBEAY - BAS 0 AF o ﬁlf& HD=2
0 PE| 20,0003 x46H x12& 11,040
== | PIE| 60,0003 x46H x12& 33,120
- A olE XS 100,000& x5 x12& 6,000
- JIEHDFS 20,000& x50H x12& 12,000
- LGRS =, 2,600,000 x 15 x12& 31,200
Os+22+¢ 37,560
-flEaesy 7,440
= 50,000& «10H x12& 6,000
93 40,000& *3H ~ 128 1,440
-SG9 0sd3EsY) 29,640
52 50,000& x2H x12& 1,200
- 672 30,0003 *31H x12& 11,160
- 8~932 20,000& «10¥ x12& 2,400
JbAZ (D& AF) 50,000& *3H x12& 1,800
S JHARZ2 (IS ELIIAL
30,000& x25H x12& 9,000
DFAZ2 (AL DIIAF) 20,000 *x14H %128 3,360
M2 (2E6~72) 10,0002 x2H x 128 240
A2 (288~92) 20,0002 2 x12& 480
- SaYRAT(BELY)
40,000& x1G +12& 480
Oxm2REHYS 344,080
SN2 2ReY 344,080
PARSLEC 12,1243 *10Al 2tx43H + 12& 62,560
BN 12,1243 x45 A 2t x43H x 128 281,520
ORYHSRIAY 50,000& x2H x12& 1,200
OFHZ A 140,000 x46H = 12& 77,280
OY&E 30yl 1,655,384,400& *1/12x60%*23] 165,539
OHIE At
2,107,384 ,400& *1/12%86%*1/30% 12 60,412
03 22X (FIH)22XES 441,501 501,800 60,299
OoJis=s 283,514
O1&2(182 =) 2,203, 7503 x4H x12& 105,780
O22 2 (155 2) 2,468,520 x6H x12& 177,734
OJe=< 47,253
(ORES 2,203, 750& x4 x200% 17,630
O2& 2 2,468,520& *6H x200% 29,623
OdX0IANE=Y 13,583
O1&Z (185 2) 106,080& x4 12! 5,092
O2& 2 (155 2) 117,920 x6H 12 8,491
oI s< 12,960
[@):[iE==PN; 40,0003 *10H =12 4,800
OFMAH 20,000& *10H x12& 2,400
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